Multiple Choice Questions for Reproductive Health and Gender-Based Violence

1. Reproductive health includes which of the following:

a) Access to acceptable, effective and safe contraception
b) Protection from sexually transmitted infections
c) Health services for safer pregnancies and deliveries 
d) Services to promote healthier babies
e) All of the above

	Answer: e

2. Which of the following is not true with regards to sexual and reproductive health in humanitarian emergencies:

a) Women and children make up the majority of affected populations
b) Every day an average of 50 women die in humanitarian settings
c) It is critical to include sexual and reproductive health care in humanitarian responses
d) [bookmark: _GoBack]Approximately a quarter of women in humanitarian settings are of childbearing age

	Answer: b

3. Which of the following is true with regards to MISP?

a) It stands for Maximal Initial Services Package
b) MISP is comprehensive reproductive health care 
c) It is implemented in the earliest days of the emergency
d) MISP includes a reproductive health kit that will meet all reproductive health care needs of 500,000 people for 6 months

	Answer: c

4. What are some of the underlying root causes of gender-based violence?

a) Gender inequality and social norms that are accepting of violence
b) Previous experiences of violence
c) Substance abuse
d) Mental heath disorders
e) All of the above

	Answer: e

5. Which of the following statements is/are true about gender-based violence?

a) It is a global problem that affects all regions of the world
b) Both women / girls as well as men / boys are affected
c) Its impact is often minimal and short-lived.
d) a and b are correct

	Answer: d
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